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 Add & Subtract 

Mixed Review 

 

Directions: Solve and show work. Lightly shade the box if the answer is odd and follow the path. 

At any one time, clouds cover _______% of the earth. 

1.   
     428 
–   387        

        

2.   
     9,685  
+      364        

     

3.   
       5,624  
 –   2, 551        

 

4.   
8,234 + 985 =  
 

    

5.   
24,074 – 20,146 =  
 

 

6.  Tia ran 5.82 km and 
Chris ran 4.84 km. How 
much farther did Tia run? 

 

  

7.  
   6,341 + 1,002 + 9 =   
          

          

8.   
      8.46  

      –   3.56        

 

9. The outdoor temperature 
was 38.3°F, and the indoor 
temperature was 68.9°F. 
What’s the sum?  

10.   
  0.54 – 0.26 =   

 

11.   
28 + 27.08 =     

    
 

 Remember: 28 = 28.00 

12.   
  $346,144  

     +  $36,865        

 

13.   
  88 – 1.3 =   

    

14.   
   2.631 + 0.99 =  

 

15.  Tim drove 75 miles 
and Tom drove 376 miles 
farther. How far did Tom 
drive? 

    

16.  There are 251 red cars 
on the lot and 166 white 
ones. How many more red 
cars are there?  

17.   
     568 
+   688        

 

18.   
     1,285  
–      303        

 

19.   
     14 + 16 + 57 =   

  

          

20.   
What’s the error? Jill 

got 548 – 680 = 148. 
 

 

                 30% 90% 60% 8% 

 
Fun Fact: A cloud is a large group of tiny water droplets that we can see in the air. 

They form when water on Earth evaporates into the sky and condenses 
high in the cooler air.  

Name __________ 

Date __________ 

Start 
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Mixed Review 

 

Directions: Solve and show work. Lightly shade the box if the answer is odd and follow the path. 

At any one time, clouds cover __60_% of the earth. 

1.   
     428 
–   387        

       41 

2.   
     9,685  
+      364        

    10,049 

3.   
       5,624  
 –   2, 551        

     3,073 

4.   
8,234 + 985 =  
 

   9,219 

5.   
24,074 – 20,146 =  
 

   3,929 

6.  Tia ran 5.82 km and 
Chris ran 4.84 km. How 
much farther did Tia run? 

 

 0.98 km 

7.  
   6,341 + 1,002 + 9 =   
          

         7,352 

8.   
      8.46  

      –   3.56        

               4.9 

9. The outdoor temperature 
was 38.3°F, and the indoor 
temperature was 68.9°F. 

What’s the sum? 107.2 

10.   
  0.54 – 0.26 =   

        0.28 

11.   
28 + 27.08 =     

   55.08 
  
 
Remember: 28 = 28.00 

12.   
  $346,144  

     +  $36,865        

          $383,009 

13.   
  88 – 1.3 =   

   86.7 

14.   
   2.631 + 0.99 =  

3.621 

15.  Tim drove 75 miles 
and Tom drove 376 miles 
farther. How far did Tom 
drive? 

   451 miles 

16.  There are 251 red cars 
on the lot and 166 white 
ones. How many more red 

cars are there? 85 

17.   
     568 
+   688        

      1,256 

18.   
     1,285  
–      303        

          982 

19.   
     14 + 16 + 57 =   

  

          87 

20.   
What’s the error? Jill 

got 548 – 680 = 148. 

The larger number was 

not on top. 

 

                 30% 90% 60% 8% 

 
Fun Fact: A cloud is a large group of tiny water droplets that we can see in the air. 

They form when water on Earth evaporates into the sky and condenses 
high in the cooler air.  

Answer Key 

Start 


